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1. Introduction
This pCR updates the solution#33
2. Reason for Change
Provide a solution for the solution#25 for the CAS initiated ACR procedure.

For the co-existence of CAS and EAS, the CAS has the business relationship with Edge entity, in such case, the CAS can directly consume service from the ECS and EES. That means the CAS can perform the service provisioning via the ECS for the T-EES information, then the CAS can perform the EAS discovery via the T-EES for the T-EAS information.
3. Proposal

It is proposed to agree the following changes to 3GPP TR 23.700-98 v1.2.0.
* * * First Change * * * *

7.25.2.2.6
CAS initiated ACR

In this scenario, the CAS detects the need for ACR and makes the decision about whether to perform the ACR and starts the ACR at a proper time. 

When ACR happens between EAS and CAS, the S-EAS can be the CAS. During the ACR execution phase, the CAS needs to know the EES before continuing with T-EAS discovery. Once the CAS knows the EES, the T-EAS discovery and the remaining steps are similar to the "S-EAS decided ACR scenario" as specified in TS 23.558 clause 8.8.2.4, where the CAS acts like the S-EAS. 




7.25.2.2.6.x
CAS initiated ACR via ECS” 
Assumptions::

1. The CAS has the business relationship with the ECSP.
2. The CAS can obtain the UEID information.
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1. The CAS detects the ACR event.
2. The CAS determines the ACR is required which the service can be relocated to the edge.

3. The CAS can perform the Retrieve T-EES procedure to the ECS for the T-EES information.

4. The CAS can perform the T-EAS discovery procedure to the T-EES for the T-EAS information

5. The CAS can send the target information notification to the EEC via the AC, the target information including the T-EES and T-EAS information. 
Editor's note:
How the EEC context will be handled during the ACR happens between EAS and CAS is FFS.
Editor's note: Further details of steps 1 to 5 are FFS.
Editor's note: To preserve privacy, how the Edge UE ID can be obtained and used instead of the UE ID is FFS
* * * End of Change * * * *
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